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alphal3_4eX1X:cyclenum {run == 8029}
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cyclenum

delta46_12X4eY:cyclenum {run == 8029}

1 70217.502180218.802120219. 00220.5. 1
cyclenum
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cyclenum
run:cyclenum {run == 8029}
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cyclenum
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deltal3_12X4eX:cyclenum {run == 8029}
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cyclenum

segment:cyclenum {run == 8029}
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usl_1X:cyclenum {run == 8029}

102170217.502180218.902190219.502200220.50221
cyclenum

usl_4eY:cyclenum {run == 8029}
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cyclenum
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usl_4aY:cyclenum {run == 8029}
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cyclenum

usl_12X:cyclenum {run == 8029}
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cyclenum
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usl_4eX:cyclenum {run == 8029}
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cyclenum

run:cyclenum {run == 8029}
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cyclenum
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usr_1X:cyclenum {run == 8029}
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cyclenum

usr_4eY:cyclenum {run == 8029}
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cyclenum
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usr_4aY:cyclenum {run == 8029}

102170217.502180218.402190219.502200220.50221
cyclenum

usr_12X:cyclenum {run == 8029}
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cyclenum
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usr_4eX:cyclenum {run == 8029}
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cyclenum

run:cyclenum {run == 8029}
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cyclenum
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usl_coill:cyclenum {run == 8029}
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usl_coil6:cyclenum {run == 8029}
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cyclenum
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usl_coil3:cyclenum {run == 8029}
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cyclenum

usl_coil7:cyclenum {run == 8029}
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usl_coil4:cyclenum {run == 8029}
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cyclenum

run:cyclenum {run == 8029}
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cyclenum



usr_coill:cyclenum {run == 8029}

O -
-2000 |- -
-4000
-6000 - :
-8000 |-+t -+t L
10000 -
12000
14000 - b+ ee e ee e
16000 -
-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
102170217.502180218.502190219.502200220.50221
cyclenum
usr_coil6:cyclenum {run == 8029}
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usr_coil3:cyclenum {run == 8029}
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cyclenum

usr_coil7:cyclenum {run == 8029}
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cyclenum
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usr_coil4:cyclenum {run == 8029}
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cyclenum

run:cyclenum {run == 8029}
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cyclenum
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1X_coill:cyclenum {run == 8029}
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cyclenum

4eX_coill:cyclenum {run == 8029}
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1X_coil3:cyclenum {run == 8029}
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cyclenum

4eX_coil3:cyclenum {run == 8029}
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cyclenum
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1X_coil7:cyclenum {run == 8029}
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cyclenum

4eX_coil7:cyclenum {run == 8029}
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4aY_coild:cyclenum {run == 8029}
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cyclenum

4eY_coild:cyclenum {run == 8029}
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4aY_coil6:cyclenum {run == 8029}
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4eY_coil6:cyclenum {run == 8029}
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cyclenum

4eY_coil7:cyclenum {run == 8029}
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12X_coill:cyclenum {run == 8029}
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cyclenum

12X_coil6:cyclenum {run == 8029}
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cyclenum

12X_coil3:cyclenum {run == 8029}
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cyclenum

12X_coil7:cyclenum {run == 8029}
* N :.E

¥

102170217.502180218.402190219.502200220.50221
cyclenum
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cyclenum

run:cyclenum {run == 8029}
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